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Q.13 ¥fa yavemia &t wrger v o @ o7

Question ID : 6009296069
Status : Not Answered
Chosen Option ; --
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Q.14 Prafoflm A @ vl ar ol = & s e ) W o R i B2
Ans X 1. sy e

X 2 Rgdad

X 3. srwRa e

of 4 dgain

Question ID : 6009296068
Status : Not Answered
Chosen Option ; ==

Q.15 Wuﬂudﬂum1n9wmﬂwmhﬂﬂﬁuﬂﬂﬁﬂ“ﬁmﬁﬁ

Ans  off 1 emdR
X 2w
X 3. s
X 4w

Question ID ;: 6009296065
Status : Not Answered
Chosen Option : ==

Q.16 afy it fg g arardt =t avfaren sfaren & 3 Rl & ordhft o F amd @ Y v o §, A
ard @ upa, g, A, amed, wrepd ofte degd snare e goui e e el @ we-w ands
mwmhwmiﬁmﬁuﬂwmmtaﬂ!mmmwm
wewme g

KHIALNGVBUERMQ
Ans  off 1. VERBAL
75 2. LINEAR
75 3. HERBAL

75 4. UNIQUE

Question ID : 6009296083
Status : Not Answered
Chosen Option ; ==

Q.17 Fre= sjen & psflg (7) & v or Wi dam

11,13, 19,31,51,81,2179
Ans X 1143

Xa2m
of 3123
X 4137

Question ID : 6009296080
Status : Not Answered
Chosen Option : ==
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Q.18
Ans  off 135264781

X 263,521,478
7K 335264187
X 463,524,187

Question ID : 6009296081
Status : Answered
Chosen Option : 1

R
Q.19 mhu:qmmﬁmmwn#ﬂmmt!iwmmnm“
wiftad

ot : e gz 0 7
Ans  of 1 R (DENY)
7X 2. ¥ (REMIT)
X 3. areita (ALLOW)
7% 4. g8 (INCLUDE)

e T T S
a .

Question ID : 6009296075
Status : Answered

Q.20 uﬂmﬁﬁ?&mﬁaﬁmﬂdﬂatﬂummuwlmimtl
HOSPITAL : IRTSJWBO :: ____: BTVDSLVP
Ans X" 1, AQUEDUCT
2% 2. SPINSTER
W 3. AQUARIUM
7< 4. PRESENTS

Chosen Option : 1

Question ID : 6009296082
Status : Not Answered
Chosen Option ; --

Section : General Hindi

T S —
Ans X1

X 2.0m

of 3 o

X 4.mm

Question ID ; 6009296094
Status : Answered
Chosen Option ; 3
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Q.2 ‘wrfere wr dR-Rredg g
Ans X 1 ot + g
7X 2. + smEmy
X 3.7 + I
«4.maf+m

Question ID : 6009296092
Status : Answered
Chosen Option: 4

Q.3 ‘werk # R weow wr wiky gan &7
Ans X 13

f 2 ané

X 34

X ad

Question ID : 6009296095
Status : Answered
Chosen Option : 4

Q.4 ‘fir venn i’ et & fog ow e &
Ans X1 PRy
X 22w

X 3. ue
o & Rffiy

Q.5 “qofir: ey one s v g W &:
Ans o 1. ot T B o

2% 2. ama e AT wen

X 3. o v v

75 4. v e A e

Question ID : 6009296089
Status : Answered
Chosen Option : 4

Question ID : 6009296098
Status : Answered
Chosen Option : 1




Q6 FEddewmmaga?

Question ID : 6009296086
Status : Answered
Chosen Option ; 2

%Q.? Bz ¥ i Qg gered w and &
Ans X 1. sm T s

2. e

X 3 s AT

X 4 ewma

Question ID : 6009296097
Status : Answered
Chosen Option : 2

LS

Q.8 PrafRfl ¥ % a w o gk 7
Ans x 1. BE

X 2 g

X 3o

ER T

R

Q9 Feddygamaaad?
Ans B 1 gwerd o
o 2 e serd i
X 3 enwed ohd
X4.mi=‘m$r§ﬁﬂan

O D —

e

Question ID : 6009296090
Status : Answered
Chosen Option: 3

———————

Question ID : 6009296099
Status : Answered
Chosen Option : 2
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Q.10 Pr=ftre ¥ & o= ur wg oftfdir §2
Ans X 1. fum

X2

o 3. Rt

X 4. zmEr

Question ID : 6009296091
Status : Answered
Chosen Option: 3

Q.11 P dd v armmamm i?
Ans  of 1 ofy

X 2w

X 3.mr

X 4

Q.12 ‘uz’ fawre vafvardt &2
Ans X 13w

X 2@

o 3 =

X 4w

Question ID : 6009296085
Status : Answered
Chosen Option : 1

Question ID : 6009296087
Status : Not Answered
Chosen Option : ==

Q.13 ‘Ao & =i wr wmTR 7
Ans X 1. srardt v
X2
o 3.

X4z

Question ID : 6009296093
Status : Answered
Chosen Option : 1




Q.14 ‘smarer w1 Rty e g

Ans « 1.9%
X 23w
X 34w
X 4w
Question ID : 6009296088
Status : Answered
Chosen Option : 1
ity g o P L
Q.15 frdddmwmyad?
Ans X 1. e
X 2. @b
x 3. gfagfes

v R

Question ID : 6009296096
Status : Answered
Chosen Option : 2

Section : General English

Q.1 Fill in the blank with the most appropriate phrase.

His assistant all his orders very well.

Ans  off 1. carries out
x 2. carries in
x 3. carries down

x 4. carries up

Question ID : 6009296111
Status : Answered
Chosen Option : 1

e S s RDESNGSNS S
Q.2 Select the most appropriate option to fill in the blank.

The hooter warned that there would an air raid soon.

Ans X1 our
o 2 them
x 3. we
x 4. they

Question ID : 6009296106
Status : Answered
Chosen Option: 2
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select 'No error'.
| took some photographs by my camera.
Ans v 1. by my camera

x 2. some photographs

x 3. No error
x 4.1 took

Q.3 In the sentence, identify the segment that contains a grammatical error. If there is no error,

Question ID : 6009296113
Status : Not Answered
Chosen Option : ==

Q.4 Select the most appropriate option to fill in the blank.

Don't promise anything
Ans X 1. although

v 2. unless
x 3.in case
X aif

B ey o S RO AU —

Q.5 Select the correctly spelt word.
Ans X" 1. boundory

v 2. boundary

75 3. boundery

7% 4. boundry

Q.6 Select the most appropriate antonym of the given word.

DIMINISH
Ans 1 1. extend

x 2. exclude
x 3. reduce
x 4. curtail

you are sure that you can fulfill it.

Question ID : 6009296107
Status : Not Answered
Chosen Option ; ==

Question ID : 6009296110
Status : Answered
Chosen Option: 2

Question ID : 6009296109
Status : Answered
Chosen Option : 1




Q.7 Select the most appropriate option to fill in the blank.

Nowadays potatoes are than the onions.

Ans X 1. as costly

V 2. costlier

x 3. costliest

x 4. costly

Question ID : 6009296102
Status : Answered
Chosen Option: 2

Q.8 Select the most appropriate option to fill in the blank.
ship?

Have you ever salled on

Ans of 1.2
Xz.n

x 3. no word required.

X 4.the

Question ID : 6009296100
Status : Not Answered
Chosen Option ; ==

Q.9 Select the most appropriate option to fill in the blank.
Last evening he a party in his house.
Ans X 1.is having
x 2. will have

7% 3.has
v 4. had

Question ID : 6009296104
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate option to fill in the blank.

You need not for me for lunch.

Ans X 1. to wait

x 2. waiting

X 3. to be waiting

of 4 wait

Question ID : 6009296103
Status : Not Answered
Chosen Option : ==
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Q.11 Select the most appropriate synonym of the given word.

AFFECTIONATE
Ans  off 1. loving

X 2. aloof
7X 3. happy
x 4. rich

Question ID : 6009296108
Status : Not Answered
Chosen Option : ==

Q.12 Select the most appropriate option to fill in the blank.

| my work before the boss called me.
Ans x 1. was finishing

x 2. am finishing
o 3. had finished

7% 4. finish

Question ID : 6009296105
Status : Not Answered
Chosen Option : -~

Q.13 In the sentence, identify the segment that contains a grammatical error. If there is no error,
select 'No error’,

The injuring people were taken to the hospital.
Ans X 1. 1o the hospital

« 2. The injuring people
x 3. were taken
x 4. No error

Question ID 16009296114
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to fill in the blank.
We always have the Board meetings

Ans (1 0on
of 2in
75 3.by
x-‘l.at

the morning.

Question ID : 6009296101
Status : Answered

Chosen Option : 2




a rabbit's home

Ans 1 den
V 2. burrow
x 3. pen
x 4. lair

Q.15 Select the most appropriate word for the given group of words.

Question ID ; 6009296112
Status : Answered
Chosen Option : 2

Section : Domain Knowledge

Q.1 IEE Pret & srqwm, 3-amw DC Ry
e

Ans X 1 fer
X 2. @
X 3. @@
&

—— 5 e & v Ae-oried et s e )

Question ID : 6009296127
Status : Answered
Chosen Option: 4

SN bl AR

Ans X" 1. 1980
X 2.2005
25 3.2000
o 4 1991

warr o ff gt wif
Ans X 1 5.0 s
' 2 100 REm
X 3. 1250w
X 4. 25w

Q.2 5ar15amps, zsovtwmmmniﬁnﬁms1293-19&3&-:3«::,

ﬁ__ismw»nps,z«v#umﬁulwm«n

Question ID : 6009296138
Status : Not Answered
Chosen Option : ==

R TR B M
Q.3 lEhmMimqm,aﬁﬂsmmtnmﬂmtmﬁgmm_ﬂ

Question ID : 6009296237
Status : Answered
Chosen Option : 1
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Q.4 In hysteresis loop (B-H Curve) B represents of the:
Ans X" 1. Magnetizing force
x 2. Maximum flux
x 3. Reluctance
q’ 4. Magnetic flux density
Question ID : 6009296125
Status : Answered
Chosen Option : 4
Q.5 VIR, (#.omfem.) wrgofsg w2
Ans X 1. 3fvaer §sfEae R (Venial Industrial rubber)
7K 2. 4w éfaw @R (Venial Indian rubber)
X 3. aedses §5fGaw @ (Vulcanized Industrial rubber)
I 4. gehaTESs 8307 R (Vuleanized Indian rubber)
Question ID : 6009296120
Status : Answered
Chosen Option : 4
st R

Ans

Ans

Q.6 Which type of load has nature to produce a leading power factor?

x 1. Resistive
75 2 Inductive
x 3. Series connected resistance and inductance

of 4. Capacitive

Question ID : 6009296192
Status : Answered
Chosen Option: 4

within an acceptabie range, is known as :
x 1. Checking of energy meter

X 2. Requirements of energy meter
’ 3. Calibration of energy meter

x 4. Specialization of energy meter

Q.7 The process of elimination of errors by configuring an energy meter to provide a result

Question ID : 6009296226
Status : Not Answered
Chosen Option ; ==




Q.8 fiv e &, aronr 7 §19 w s Ry vz o
Ans  of 1

X 2 daw

X 3.9

X 4w

Question ID : 6009296173
Status : Answered
Chosen Option : 1

Q.9
Ans X 1, g ol o H e

fz.um(aﬁ‘?rr)
X 3. ()
7 4. am (shfEm)

Question ID : 6009296193
Status : Answered
Chosen Option : 2

Q.10 TRATY] Iere S WidvaT ([yfaaT oFRRET R Rite) F aget weord ____ wrer v omren 81

Ans X 1. v (oms)
X 2. e ()
W 3 Rz ()
X 4. v ()

Question ID : 6009296166
Status : Answered
Chosen Option: 3

=l A
Q.11 ¥ @ e womreft , = e fRw T sToe y-amemdt Ry & sl R om v #7
Ans X 1, i @, 3 AR SRighiE W
2K 2. & @, 3w ar wgfv YR
7X 3. @ e, 4 AR Hgfee YR
' 4. i e, 4 R IrigRE WR

Question ID : 6009296189
Status : Answered
Chosen Option ; 4
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Q.12 wrf sedor & oftweds Ziwftver & frg _____ w oy v omar
Ans  of 1. B e

X 2. e et

X 3. awd & st
7X 4. Rec gt

Question ID : 6009296165
Status : Answered
Chosen Option: 1

Q.13 The product of root means square (RMS) value of voltage and current is knownas _.
Ans O 1. Reactive power

x 2. Real Power
v 3. Apparent power
x 4, Active power

Question ID : 6009296191
Status : Answered
Chosen Option: 3

Q.14 Avo-numm_uamﬂtmn;man
Ans X 1. grdter, atee, o

of 2. orih, e, wfd

X 3. gt 2, wfirdy

X 4 i, 7, s

Question ID : 6009296147
Status : Answered
Chosen Option : 2

Q.15 Which type of prime movers Is considered in high-speed prime mover for an alternator?
Ans « 1. Gas turbine

X 2. Water turbine
X 3. Internal combustion engines

X 4. Electric motor

Question ID : 6009296236
Status : Answered
Chosen Option: 3




can:
Ans ' 1 burn
x 2, catch fire
X 3. remain same

Q.16 If electric wires and appliances are overheated due to high voltage of electric current they

( 4. freeze
Question ID : 6009296257
Status : Answered
Chosen Option: 1
e BT ST A R LT Y

Q.17 Which one is not a substation?
Ans X 1. Indoor substation

V 2, Over door substation
x 3. Underground substation
7¥ 4. Outdoor substation

2900006000606 6086

Question ID : 6009296169
Status : Answered
Chosen Option : 3

R T
Q.18 & iz - #a Y garar Rt gl 7
Ans X 1. 200 gas/are

X 2 ogF/ar
X 3. 120 g/
Y ERPECCT

Ans X 1.35mm

& 2.315mm
¥ 330mm
x 4.3.75 mm

Question ID : 6009296160
Status : Answered
Chosen Option : 4

Q.19 wFivd wwghe & R ngw At ) sterf gkt

Question ID : 6009296256
Status : Answered
Chosen Option : 2
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Q.20 Which part facilitates the transfer of mechanical power from or to the DC machine?
Ans X" 1. Armature core

75 2. Cooling fans

o 3. Shaft

75 4. Commutator

Question ID : 6009296212
Status : Answered
Chosen Option : 4

Q.21 According to Right-handed corkscrew rule, direction of the magnetic field is represented by

which of the following?

Ans x"l. Same direction along with screw maves
x 2. In the direction of screw insert inside
x 3. Direction of perpendicular of screw rotation

f 4. Direction of the rotation of the screw

Question ID : 6009296178
Status : Answered
Chosen Option : 2

Q.22 wi ¥t srafier DC e wifew wit aifives anfiw o aferffer ot 7
Ans X 1. AC s (SFRER)

¥ FRVE

75 3.AC T

X 4.pc P

Question ID : 6009296207
Status : Answered
Chosen Option: 2

Q.23 V -am it witfe et & g gromions st & i smnsi e 3o fwa o 2
Ans X 1, arfer R iR dtezar

X 2. arfer gz ol d dieean

of 3. o urr ok & a1

75 4. 8wy iR deea

Question ID : 6009296239
Status : Answered
Chosen Option: 3




Q.24 Which cell has highest life over other primary cells?
Ans X" 1. Silver Oxide Cell

X 2. Alkaline Cell
X 3. Voltaic Cell
o 4. Lithium Cell

Question ID : 6009296122
Status ; Answered
Chosen Option : 4

Q.25 ﬂmumﬂnmmwwﬂlﬁﬁmmmtﬂw&hmh
Ans X 1. dzed aafin (Bedroom wiring)

x 2. gfeet arafén (Hostel wiring)
« 3. g figer arafén (Home theater wiring)
x 4.7 g/ AR (Go down wiring)

Question ID : 6009296194
Status : Not Answered
Chosen Option ; --

e
Q.26 Which is an example of a secondary type of instruments?

Ans X" 1. Absolute electrometer

« 2. Wattmeter
x 3. Raleigh current balance

X 4. Tangent galvanometer

Question ID : 6009296224
Status : Not Answered
Chosen Option ; ==

Gy
Q.27 aﬁa(umﬁtngﬁmaamﬂﬁwtﬁw,ﬂwmmwwuthm&
W__wgranar i

Ans X 1. ofaw vives (Efhe e
X 2. afda nitrers (amgefi idees)
o 3. afta Qe (smgefin o)
X 4. Rl (amgeidted)

Question ID : 6009296167
Status : Answered
Chosen Option: 3
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Q.28 stoft ravrer wrren (wiior srgfém) i, 240 V gl & g v 6 V wew Y smavaman wif?
Ans X 1.42

7X 2.30

X336

of 440

Question ID : 6009296209
Status : Answered
Chosen Option : 4

Q.29 P A w7 aRwfimf i
Ans X1 gifwaf
X 2 ey win gty
f s amef
X s dpamsat

Question ID : 6009296229
Status : Answered
Chosen Option: 3

Q.30 :c*u‘?wﬁmmﬂwmﬁtmﬁlﬁnﬁmtmihid!hmm

Ans O 1. aftram ZamE & M
7 2. oof vz
X 3. arftasem zaran & g
I4.almmnm

Question ID : 6009296214
Status : Answered
Chosen Option : 4

Q.31 s S aygoit & wet wiker wan, va, wiy, spmdte i ofte dher v (wranre) & aoal & sow
Fofwt____ e omen 1

Ans X 1. gréafe S (Conventional energy)
v 2. Mr-grufie St (Non-Conventional energy)
7X 3. gr-awdve gl (Super-Conventional energy)
25 4. sitez-awduea gl (Over-Conventional energy)

Question ID : 6009296168
Status : Answered
Chosen Option : 2




Q.32 Which motor has similar speed-load characteristics as that of a universal motor?
Ans  off 1.DC series motor

X 2. DC shunt motor
7X 3. AC synchronous motor
x 4. AC squirrel cage motor

Question ID : 6009296234
Status : Answered
Chosen Option : 1

Q.33 Which of the following capacitor is a polarized capacitor?
Ans  of 1 Tamtalum Electrolytic Capacitors

7% 2 Dielectric Capacitors
X 3. Ceramic Capacitors
x 4. Film Capacitor Type

Question ID : 6009296182
Status : Answered
Chosen Option : 4

Q.34 amafén qudtwdion & R s @ wifjge
Ans O 1wy (slaer)
f 2.15.1

Q.35 Which type of precautions is not important for the installation of electric cables?

Ans x 1. Cables and wirings for emergency equipment, lightings, communication, and the

signal should be kept away from spaces like galley, laundries, machinery space of category A
& other high-risk areas,

J 2. Installed in such a manner that it should not interfere with the original
flame retarding properties.

X 3. Terminations and joints are to be made that it should decrease its original fire-
resisting properties.

x 4. Avoid cable for damage and chafing during installation.

X 3.1.5.1. 7 7
25 4. Rt wmes
Question ID : 6009296142
Status : Answered
Chosen Option : 2
E s R

Question ID : 6009296250
Status : Answered
Chosen Option : 3
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Q.36 What is the disadvantage of the speed control of DC motor by armature voltage control?
Ans x 1. Electric braking can be applied easily

x 2. Pollution-free
( 3. Cost of controlling device is high

25 4. simple and easy speed control method.

Question ID : 6009296217
Status : Answered
Chosen Option: 3

Q.37 From the options given, choose one of the advantages of the universal motor?
Ans X 1. Require frequent service and maintenance

72X 2. Relatively higher noise
' 3. Run at adjustable speeds

x 4. Cause electromagnetic television and radio interference

Question ID : 6009296235
Status : Answered
Chosen Option : 3

Q.38 mtﬂ:lﬁmm"nkynuﬂhmdhrlmnmlnm«mnﬁmum:
Ans O 1. Eddy current losses

7X 2. Friction losses
f 3. Hysteresis losses

x 4. Copper losses

Question ID : 6009296261
Status . Answered
Chosen Option: 3

Q.39 Which of the following formulas correctly expresses the current at maximum efficiency in a
DC motor?

Ans «1_
X
X3
xXa

Question ID : 6009296215
Status : Not Answered
Chosen Option : --




Q.40 Which motor among the options given, is capable of producing high starting torque?
Ans X 1. squirrel cage induction motor

x 2. Single phase motor shaded pole
#X 3. Permanent DC motor

v 4. Repulsion motor

Question ID : 6009296230
Status : Answered
Chosen Option : 4

“m

Q.41 anf-erér Rwaprdt war-arier ant amepf o (Hﬁ;m-mt?
Ans X1

Y &3

X 3.

X a

Question ID : 6009296186
Status : Answered
Chosen Option : 2

Q.42 The opposing property of a magnetic circuit for the flow of magnetic flux lines is defined by

the following:

Ans x 1. Equal to the ratio of the magneto motive force to the magnetic permeability.
X 2. Permeability of the magnets
x 3. Defined by the magnetic strength

« 4. Equal to the ratio of the magneto motive force to the magnetic flux.

Question ID : 6009296179
Status : Answered

Chosen Option : 4
H G OW——— - o
Q.43 Which is the correct statement that defines hysteresis motor?

Ans v 1. It is a synchronous motor with a uniform air gap and without DC excitation.

x 2. Itis a synchronous motor with a uniform air gap and with DC excitation.
X 3. It is a motor whose losses are minimum and that works on high temperature.

x 4. Itis a motor that has produced the torque by direct flux.

Question ID : 6009296232
Status : Answered
Chosen Option : 1
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Q.44 Which is defined as stray losses in DC generator?

Ans X 1. Friction loss of bearings + friction loss at a commutator + windage loss
x 2, Power loss in the shunt circuit
X 3. Hysteresis loss + eddy current loss

v 4. Mechanical loss + core loss

Question ID : 6009296213
Status : Answered
Chosen Option : 4

Q.45 firh sreve f g Wl ot et e g
Ans D1

X2

Vs

X 4

Question ID ; 6009296155
Status : Answered
Chosen Option : 3

Q.46 Which type of converter can work as a DC motor, AC motor, converter and inverter?
Ans ' 1. AC voltage regulator

x 2. Metal plate rectifier
v 3. Rotary Converter
x 4. Mercury arc rectifier

Question ID : 6009296242
Status : Answered
Chosen Option : 3

Question ID : 6009296119
Status : Answered
Chosen Option: 3




Q.48 Advantage of DC over AC are____.
Ans X" 1. High frequency
K 2. Low power factor

x 4. High generating voltage

v 3. No corona, proximity and skin effects

Question ID : 6009296129
Status : Answered
Chosen Option: 3

L
Q.49 The starting torque of universal motor is

Ans X 1.100 Percent of running torque
X 2. 200 Percent of running torque
X 3. 50 Percent of running torque
v 4. 450 Percent of running torque

Question ID : 6009296152
Status : Answered
Chosen Option : 1

—

earth is called
Ans X" 1 Earth wire

J 2. Earth electrode
X 3. Earth continuity conductor
X 4. Earth terminal

Q.50 A metal plate, pipe or other conductor electrically connected to the general mass of the

Question ID : 6009296134
Status : Answered
Chosen Option: 2

Q.51

Ans X 1,600 Hz
25 2.6358 Hz
X 3.9.235kHz
o 4.8.087 kHz

Question ID : 6009296201
Status :

Chosen Option ; -

Not Attempted and
Marked For Review
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Q.52 DC gl & frg afk AC after wits R amm yepaiver fey amren 8, 2t vy gvm?
Ans X 1, g urrEiEm

X 2 wrdafiwim

of 3. e ufirera 0 srpufef # ftes ur i

75 4. T e i

Question ID : 6009296140
Status : Not Answered
Chosen Option : ==

Q.53 mﬂwﬁﬂmwmt,whmmiﬂﬂuﬂthmtwm
T fovere &7

Ans X"-W#"
o 2. Rt &
7X 3. o &u
X 4. geitem da

Question ID : 6009296163
Status : Answered
Chosen Option : 2

Q.54 What happens when an electrolytic type of capacitor is connected with incorrect polarity of
DC supply?

Ans  off 1. Permanently damaged the capacitor
X 2. Doesn't affect the capacitor
X 3. Capacitor work opposite direction
X 4. Capacitor work properly

Question ID : 6009296183
Status : Answered
Chosen Option : 1

Q.55 Which test s required to determine the transformer equivalent eircult parameters and
copper losses?

Ans X" 1, Closed circuit
27X 2. Series circuit
« 3. Short circuit
x 4. bpen circuit

Question ID : 6009296144
Status : Answered
Chosen Option: 3




Q.56 Emfinduced in the secondary of the transformer is directly proportional to which of the
quantity?

Ans o 1. Flux density in the core area
x 2. Period of the frequency
X 3. Secondary load

K 4. Number of turns in the primary winding

Question ID : 6009296221
Status : Answered
Chosen Option ; 2

L s AR
Q.57 Which of the following precautions must NOT be taken while storing magnets?

Ans X" 1. Store in a dry place
X 2 Use a keeper
X 3. Store in pairs

J 4. Store in a ferromagnetic container

Question ID : 6009296176
Status : Answered
Chosen Option : 4

M55 00 | b
Q.58 Which method can be used for reducing the earth resistance?

Ans. X 1. Decrease the diameter of rod
v 2. Use multiple rods
x 3. Dry the soil by heat

< 4.Increase the length of the rod

Question ID : 6009296258
Status : Answered
Chosen Option: 3

Q.59 What is the function of synchro scope?
Ans X" 1. Connect the incoming alternator to the busbar

X 2. Indicate the correct phase sequence of the incoming alternator and busbar
v 3. Indicate the correct instance of synchronizing two alternators

x 4. Adjust the frequency of incoming alternator

e e S |

Question ID : 6009296218
Status : Answered
Chosen Option : 3
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Q.60 f=r-Bvor wear= sitee F v iRy =) e ftews iy e o 7
Ans X1 @Ay

o 2 dm i
X 3. % A s (ot ek i) o Y
X 4. et it oftrare 1 o

Question ID : 6009296149
Status : Answered
Chosen Option : 2

OSSN E
Q.61 Which is the correct formula to express the total power in three-phase delta system?
Ans (1,
X2
v &3
X 4
Question ID : 6009296188
Status : Answered
Chosen Option : 2
g T 1 e
Q.62
Ans X 1115V
X 2.355v
X 3.842v
o 4650V
Question ID : 6009296255
Status : Not Answered
Chosen Option : --
X7 B RN SR
Q.63 Which Is an advantage of batten wiring?

Ans K 1. Can't be installed in the humidity, Chemical effects, open and outdoor areas

x 2. Suitable for voltages below 250 V
of 3. Less chance of leakage cuirent
7X 4. High risk of fire

Question ID : 6009296204
Status : Answered

Chosen Option : 2




Q.64 P @ Sw-w yw g i 2
Ans X 1 AC ZEE

f 2 Fr=zEa

X 3.0czmm

X 4. v uw (g @) 3w

Question ID : 6009296171
Status : Not Answered
Chosen Option : ==

P51t T R

Q.65 mtﬂﬁnm;-_dmﬁtmﬂﬁﬂhﬂmmm
Ans X1 eal

of 2 sime

X 3 iRwEh

X 4. amafy

T

Question ID : 6009296156
Status : Answered
Chosen Option : 2

¥l B T e
Q.66 In a three-phase motor starter, off push button/over load relay and NVC are connected In

the following fashion:
Ans X 1. Allare in parallel

v 2. All are in series
x 3. Parallel with main line

K 4. Parallel with on push

Question ID : 6009296263
Status ; Answered
Chosen Option : 3

SRR —
Q.67

Ans X" 1. Casing and Capping Wiring system
X 2. Contact loop wiring system '
x 3. Loop wiring system
v 4. Joint box wiring system

Question ID : 6009296202
Status : Answered
Chosen Option : 4
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Q.68 Permanent magnet DC motor is not suitable for which type of application?
Ans 1, Toys

1 2. Train traction
7% 3. Small robots
75 4.Computer disc drives

Question ID : 6009296208
Status : Answered
Chosen Option : 2

.69 Fafreit ahe s Fafine i & Rro R e & e ) omph By o &7
Ans 2 1. ga

7X 2. smam
o 3. onf wreer
X 4 ad smae

Question ID : 6009296161
Status : Answered
Chosen Option : 1

Q.70 DC oy i e e ____ @ wd @ia f
Ans  off 1 afif sk e (3 g @)

X 2.t

X 3w

75 4. o (Rfe)

Question ID : 6009296141
Status : Answered
Chosen Option: 1
R L

Q.71
Ans  off 1. Highpass

X 2. Low pass

K 3. Bandstop

7X 4.Band Pass

Question ID : 6009296200
Status : Not Answered
Chosen Option : --
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Q.72 mmgmmtm-ﬁmtmmmtmhmdem
of AT

Ans  of 1 R sufRa
X 2. Rea-smeen dufe

X 3. R whurfor wam
X 4 wrdem dus
Question ID : 6009296253
Status : Answered
Chosen Option : 1
SRt S S e = et

Q.73 Which of the following battery types displays ultra-slim geometry in its design?
Ans x 1. Nickel-Metal Hydride

Q.74 What happens when a DC motor is started without a starter?
Ans 3" 1. Doesn't damage the armature

x 2. High back emf is produced.
J 3. High current flows through the starter.

X 4. Resistance in the armature is increased.

x 2. Lithium-lon
J 3. Li-ien polymer
K 4. Lead Acid
Question ID : 6009296251
Status : Answered
Chosen Option: 2
M et T | S i T —

Question ID : 6009296216
Status : Answered
Chosen Option : 3

EM-MWMTmﬁmm_m;I
Ans O,

v &)

X3

X 4

Question ID ;: 6009296162
Status : Answered
Chosen Option ; 2




Q.76 What is the value of Peak factor of a sin wave if the maximum Voltage is 23v2 V?
Ans X1,

W 21414

X 3.314

X 425

Question ID : 6009296254
Status : Answered
Chosen Option : 2

Q.77 Which among the options, is the advantage of plastic film type capacitor?
Ans X" 1. Higher tolerances

X 2. Small service life

J 3. Operation at high temperature
X 4. Low reliability

Question ID : 6009296181
Status : Not Answered
Chosen Option ; ==

Q.78 firgger wemfor & fvg after ot sitee wared auges 7
Ans X 1. Rk diftes (Ros¥Rae durca)

X 2. o gefera (afe)

of 3. dvft

X 4. waffiy it (@R durse)

Question ID : 6009296198
Status : Answered
Chosen Option: 3

Q.79 What effect if phase to neutral wire will short?
Ans  of 1 High current flow & fire

x 2. Low current flow & no fire
x 3. Low current flow & fire

x 4. No current flow & no fire

Question ID : 6009296170
Status : Not Answered
Chosen Option : ==
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Question ID : 6009296128
Status ; Answered
Chosen Option : 2

Ans 1.
v &3
X3
X 4

Ans

Q.81 The process of equalizing the stress in the dielectric of the cable is known as:

x 1. Space material of the cable
x 2. Distance of the cables

x 3. Insulation level of cable
o 4. Grading of Cable

Question ID : 6009296206
Status : Answered
Chosen Option : 4

T ey

Question ID : 6009296132
Status : Answered
Chosen Option : 1

“r— N e T S —————

Q.82 The turning or twisting moment of a force am-:xh iscalled____.
Ans o 1 Torque
x 2. Speed
X 3. Coupling
X 4.5iip
T:_';a Ruw At w1 g _____ g g
Ans X 1. graifee B sl
X 2. dmgrR
o 3. Bfez of the et
X 4. PR g MR

Question ID : 6009296153
Status : Answered
Chosen Option : 3
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Q.84

Ans X 1. CTS R WA
2. whe ar e
X 3. gz ar @
7K 4. &t (Aft) ar g

Question ID : 6009296203
Status : Answered
Chosen Option : 2

| 0.85 DC e i firy Piverd sreere 35 Pl e (¥ sofz) evere 7

Ans O 1 4ymER
X 2.2mR
f 3. 35ER
X 4 1mEr

Question ID : 6009296259
Status : Answered
Chosen Option: 1

Q.86 A switch that can be used for sequential switching “on' of the decorative lamps and series
lighting systems is called _.

Ans X 1. Two-way switch
75 2. Bell switch
K 3. Intermediate switch
« 4. Tumbler switch

Question ID : 6009296262
Status : Answered
Chosen Option: 1

Q.87 Which is one of the advantages of digital multimeter than analogue multimeter?
Ans v 1. Gives accurate reading than analogue multimeter

7% 2. The digital display can wear out the battery life of the digital option
x 3. More expensive than an analogue multi tool.

7< 4. The digital meter can sometimes get overheated

Question ID : 6009296225
Status : Answered
Chosen Option : 1




Q.88

Ans X1
X2
¥ &)
X 4

Question ID : 6009296115
Status : Answered
Chosen Option : 3

ARt e LU SR
Q.89 Which type of rotor is used in a Turbo (high speed) alternator?

Ans X 1. salient pole type rotor
X 2. Slipring type rotor
x 3. Double bar cage type rotor

v 4. Cylindrical pole type rotor

M

Question ID : 6009296219
Status : Answered
Chosen Option : 4

e Sen e

calledas __.
Ans X 1. Watt meter

x 2. Energy meter
' 3. Clamp meters

x 4. Frequency meter

M

Q.90 A current transformer with split core, when used in conjunction with a recording meter is

Question ID : 6009296260
Status : Not Answered
Chosen Option : ==

PR et s | A
Q.91 Mmmtuﬂ(ﬁmﬁﬁwﬁmnﬁrmmmmh

Ans 2 1. o g @ et
#< 2. 7R e v g et
X 3.7 srafafia @
o 4 ofx amht g st

Question ID : 6009296150
Status : Answered
Chosen Option : 4
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Q.92 Which device Is used to protect the circuits from short circuit fault and overload?
Ans X 1.Switch

x 2. Isolator

x 3. Push-button

of 4 mce

Question ID : 6009296164
Status : Answered
Chosen Option : 4

Q.93 When metal body of equipment is earthed, it protects the equipment from?
Ans X 1. Over current

x 2. Breakdown voltage
v 3. Leakage current
: x 4. Under current

Question ID : 6009296133
Status : Answered
Chosen Option : 3

Q.94

Ans  off 1. s ()
X 2. e (Fede)
X 3. 3w
X 4. sgdiew R

Question ID : 6009296222
Status : Answered
Chosen Option: 1

Q.95 wetefat o srenwoft vl ot @ vl Sraw weht &2
Ans o 1. g g

75 2. o # et

X s qwmdhR

X 4. gadrasPy & e g (ko)

Question ID : 6009296252
Status : Not Answered
Chosen Option : --
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Q.96 mﬂﬁrmﬂm_iw#mmtl
Ans X 1. ureR ziwwiiR

X 2 otz giamti
X 3. dRfRrgw zrmmni
o 4. st g
Question ID : 6009296143
Status : Answered
Chosen Option : 4
SE—— o ———— o
Q.97 What is the purpose of operating synchronous motor on no load condition in large
industries?

Ans X 1. For work as a showcase
x 2. To consume extra power
« 3. For correction of power factor

X 4. To improve the power rating

Question ID : 6009296241
Status : Answered
Chosen Option : 4

Q.98 Muuhmﬂn(ﬂh}hmi.mwhmmmh
Ans X 1.30@50%

X 2.10@20%
X 3.0810%
o 4.60@90%

S e — R

Question ID : 6009296158
Status : Answered
Chosen Option : 1

ety & e E—— = S
Q.99 IEE forawrr arof srffrufzur (IEE regulation colour identification) & argwme, 3-tvr AC wRau
Y& _____#ed

Ans o 1 dier
72X 2. e
Xawm
X 4am

Question ID : 6009296126
Status : Answered
Chosen Option : 1
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Q.100

Ans X 1. Permanent Split Capacitor
o 2. split Phase
X 3. Capacitor Starter
x 4. Electronic Starter

Question ID : 6009296231
Status : Answered
Chosen Option : 2

Q.101
Ans  of 1 Photo diode

75 2. Tunnel diode
2¥ 3.Pin Diode
x 4. PN junction diode

Question ID : 6009296199
Status : Not Answered
Chosen Option : --

Q.102 7= Pras DC wite @ DC sitew ) nfly it Pt vy et & vy s e & Ry wheefres
afterches (dverdy) wr o faway owe &2

Ans X 1. uof Prifie et
X 2. o Prifi Reardt
o 3. wedt (3fw)
X 4. AC dtean Praris

Question ID : 6009296220
Status : Answered
Chosen Option: 3

Q.103 What s the span vaiue of an alternation of the sine wave?

Ans  of 1
X 2
X
X 4

Question ID : 6009296185
Status : Answered
Chosen Option : 2




Q.1Mdﬂdﬂmﬂw#hmtuﬂlﬂmﬁhﬂmm
Ans o 1. b

X 2 3z ok R v

X 3. wda T

X 4. il o

Question ID : 6009296196
Status : Answered
Chosen Option : 1

e e s

Q.105 =t & @ s waned 4, aft arosrr wea $, 2 e vty o vz omem
Ang v 1. CFfRfRam (Aluminum)
X 2. HrT (Paper)
X 3.7 (Rubber)

X 4. v (Mica)
Question ID : 6009296121
Status ; Answered
Chosen Option : 1
N 100t B0 s

Q.106 ffire ufdw Y yarf =y @it &7
Ans X1

X2

X s

v

Question ID : 6009296118
Status : Answered
Chosen Option : 4
B O i, S WM RSN

Q.107 Power in three phase pure resistive load is
Ans

X

X2

Vs

X a

Question ID : 6009296131
Status : Answered
Chosen Option : 3
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Q.108 Which component of the DC generator, mounted on the commutator, collects current from
the armature winding?

Ans 1 shaft
x 2. Armature core
J 3. Carbon brushes

75X 4.Interpol's
Question ID : 6009296211
Status : Answered
Chosen Option: 3
Q.109 fnger &t nfy ferht et &2

Ans  of 1. 186000 site/dnis
X 2. 486000 et/ &z
75 3.286000 Hey/dE
72X 4.386000 Her/dE

Question ID : 6009296116
Status : Not Answered
Chosen Option : --

Q.110 Which type of magnetization method is used when stronger magnetic field is required or for
multi-polar magnetization?

Ans J 1. Plus magnetic field
x 2. Conservative magnétization method
x 3. Static magnetization method
7X 4. Static electromagnetic field

Question ID : 6009296177
Status : Not Answered
Chosen Option ; ==

Q.111 Which type of winding is used for high voltage in small transformers?
Ans v 1. Crossover Winding

7X 2. Disc-Helical Windings
X 3. Helical Windings
x 4. Cylindrical Windings

Question ID : 6009296245
Status : Not Answered
Chosen Option : ==




q.mmmnqgmﬂmmmmm,mmmﬁm

Ans X 1. s R
X 2. 5 3 Raaer vt
X 3. et aera sveor o
o 4. DcoRE

Question ID : 6009296210
Status : Answered
Chosen Option : 4

e g e
Q.113 Which of the following is NOT an effect of single phasing in a three-phase induction motor?

Ans x 1. Motor cannot be increasing the heating
V 2. Motor will continue run from running position
7% 3. Motor cannot be started from stop position

x 4. Motor current is increasing 2.5 times to average current

Question ID : 6009296264
Status : Answered
Chosen Option : 1

SR, T T S O S
o.114wtmmwwm#mtmnnmwmuﬁﬂmmh

Ans X 1. ehtfRrm wethe (g o)
X 2. iefirm g2z (xik)
X 3. Bt e (e e, g
W 4w daiss (o)

Question ID: 6009296197
Status : Not Answered
Chosen Option : ==

0.115mm(ﬁnﬁhﬂﬂmmmwmtjﬁmmmﬂnﬁwm

R wq & fear on v 2
Ans O 1 guf

X 23
X s wr

o 4 s

Question ID : 6009296145
Status : Answered
Chosen Option : 4
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Q.116 af y= fARIaR devor sy & shwnf srreRT 50-150 km affe smy seear wrTeaa: Je ardfy 20
kV-100 kV §, &t yet wan s owenr 7

Ans o 1. mem e e
X 2. st steror g
7% 3. g deror g
X 4 FEdwoTaE

Question ID : 6009296240
Status : Answered
Chosen Option : 1

Q.117 12V iz i firg R & (lead) Tftrs dw =t v fwar omen § ofte 35§ A oty onen 2
Ans  of 1 dnftit6 dm

X 2. ohd 123w
X 3wt A 12 8w
X 4w d 6 dw

Question ID : 6009296123
Status : Answered
Chosen Option : 4

Q.118 Effect of corona can be minimized by which of the following way?
Ans v 1. By maintaining a proper gap between conductors and ACSR conductor

x 2. By using a copper conductor
25 3. To avoid under load
x 4, Solid conductor

Question ID : 6009296246
Status : Answered
Chosen Option : 1

Q.119 If DC supply Is fed in universal motor than it worksas ___.
Ans  of 1. A DC series motor

25 2. A AC induction motor
7X 3. A AC series motor
25 4. ADC shunt motor

Question ID : 6009296233
Status . Answered
Chosen Option : 1




Q.120 uﬁm!zzskwmwﬁzkwtmwmr-m&mwrm
Ans X 1. 80 o

' 2 92,60 nfRwm

X 3.75.68 nfww

X 4.65.75 e

Question ID : 6009296238
Status : Answered
Chosen Option : 2

» ey e e
Q.121 Which of the following precautions must NOT be taken while handling batteries?

Ans x 1. Wear protective equipment
J 2. They should be lubricated with oil from time to time.
X 3. Never allow both terminals to make contact with an item

x 4. Avoid bringing metal into contact with batteries

Question ID : 6009296175

Status : Answered
Chosen Option : 2
lopiwntsionntiini N e W
Q.1zzmwﬁmhim-ﬂnﬂaﬂamﬂhmmam&mhmmw
Sy seaw g 7

Ans X 1. Wi gadhrg aifvarg

2. i ey s

X 3. R gudiy oifvarg

x4.mmmm

Question ID : 6009296227
Status : Answered
Chosen Option : 2

S g - | T Ll
Q.123 Which parameter is not related to an AC circuit?

Ans X 1. Peak to peak value

x 2. Form Factor
72X 3. RMS Value

( 4. Cultivation of wave

Question ID : 6009296184
Status : Answered
Chosen Option : 4
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Q.124

Ans X 1. g e
X 2 wimiw
f 3 arim
X 4 Rewed

Question ID : 6009296248
Status : Answered
Chosen Option: 3

75 2. Stainless steel

7% 4. Galvanized iron

Q.125 Which type of material is NOT used to create earthing rods?
Ans v 1. Carbon bonded polymer

x 3. Copper bonded to steel

Question ID : 6009296195
Status : Answered
Chosen Option : 1

Ans X 1. gedtea
X 2. P e
of 3. e A
X 4. ffe g deear

Q.126 Fwear wifawor & srwR, 650 V# 33000 Vs fw d dtmmswm st s i

Question ID : 6009296249
Status : Answered
Chosen Option : 3

takenas ____.
Ans X" 1, 2.5 times to HP rating

75 2. Equal to HP rating
x 3. 2.0 times to HP rating
of 4.1.5 times to HP rating

Q.127 As a thumb rule for 415 V, 3-phase squirrel cage induction motors, full load current can be

Question ID : 6009296148
Status : Not Answered
Chosen Option : ==
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Q.128 mmﬂmzszvmmmutmﬂﬁmﬁﬁnﬂmﬁrﬁ)ammm

¥ we atwear @ ghft
Ans X" 1 14550V

225y

X 3.43647v

X 4504V

Question ID : 6009256181
Status : Answered
Chosen Option : 2

JIIJ

LR ETE T e N —
Ans X 1 e, e, R

X 2 vz, Prew, s

o 3. 5t P war

X 4. i, Y, afar

T

Question ID : 6009296124
Status : Answered
Chosen Option : 3

R £ty
Q.130 ®7-3 ddvaw Zifdee (packaged transistor) ﬂmﬂtmmaﬂ!u-nhmﬁﬁmh

wra §?
Ans X1 mifes
W 2 g
X 3. Rifm
X 4.amm

-

Question ID : 6009296135
Status : Answered
Chosen Option : 3

Q.131 aaﬁm“aﬂimifﬂmt,ﬁ_wmtl
Ans X1 fva giawER

X 2w g

W 3. onesf sremnk

7X 4. ft rgu ghawni

Question ID : 6009296146
Status : Answered
Chosen Option : 3
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Q.132 #tsx mwer fingger ofte mrmar wive & g, ey ____ i & 9 g
Ans X 1w dEs

X 28w

of 3 wrE

X seEaE

Question ID : 6009296247
Status : Not Answered
Chosen Option : ==

Q.133 What is the purpose of interleaving the transformer windings?
Ans x 1. Reduce the current gradient

x 2. Increasing the voltage gradient
x 3. Increased the leakage reactance

4 4. Reduced the leakage reactance

Question ID : 6009296243
Status : Answered
Chosen Option : 1

Q.134 uf¥ 1800-m sk a7 90 aipw nfdviv gian &, 2t 300 m whit ww w1 wfty R g
Ans X 1.10 3w

of 2. 153igm

X 3. 1230w

75 4.20 shgm

Question ID : 6009296172
Status : Answered
Chosen Option : 2

1
Q.135 Which of the following precautions must NOT be taken during wiring installation?

Ans v 1. Use earth wire of any gauge
x 2. Fix switchboards at a proper height
x 3. Carry out the wiring on the distribution system
x 4. Don't exceed the load on the circuit

Question ID : 6009296205
Status : Answered
Chosen Option : 1
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Q136 ddwmzew_____ &
Ans  of 1. Rregeter (Insulator)
x 2. 91e& (Conductor)
X 3. snfere (Semi Conductor)
X 4. siftvarers (Super Conductor)

Question ID : 6009296117
Status : Answered
Chosen Option : 1

VT 0 R

Question ID : 6009296137
Status : Answered
Chosen Option : 1

Q.137 amthﬁtmmm&ﬂm‘_ﬂmw:
Ans  of 1 25
X 2150
X 3.20f=
X 435
e TR i i
Q.138

Ans X 1. Ceramic Capacitors
v 2. Electrolytic Capacitor
x 3. Dielectric Capacitors
x 4. Film Capacitor Type

“J“

Question ID : 6009296180
Status : Not Answered

Chosen Option ; =-

R oman
Ans  of 1 15/
X 2275/
X 3.20R
X 4250

Q.139 BIS Prasif & arqwr, Mﬁmwmﬁdmmﬂ_mﬁtwtwh

Question ID : 6009296139
Status : Answered
Chosen Option : 1
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Q.140 Fr= divdor o = s Pl A d sw-wr i?
Ans  of 1. sifeiiaTga seRr (sifdaTee ge)

X 2. gy (@R o)

7X 3. @ vEm (gE @)

7 4. oheitfires wemer (gefmer emee)

Question ID : 6009296159
Status ;: Answered
Chosen Option: 2 .

Ans X 12507V

X 2.1207V
f 3457V

7X 4.4807v

Q.141 240 V & Sor aitwdor amdt fi-dwor s = vty Rree & g s sitedor s gt 7

Question ID : 6009296130
Status : Answered
Chosen Option : 3

Q.142 sreciee s EMF wfteeor ____ 81
Ans 1.

X2

Vs

X a

Question ID : 6009296154
Status : Answered
Chosen Option: 3

Q.143 Rvw smerTe & e & T URT S Ape awet Y avren g 47
Ans X 1. 18

X 2128w
X 3108w
f 240w

Question ID : 6009296174
Status : Answered
Chosen Option : 4




Q.144
Ans X 1. Helical Windings

o 2. Cylindrical Windings
X 3. Disc-Helical Windings
x 4. Crossover Winding
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Not Attempted and
Marked For Review

Chosen Option : ==

Status :

M
Q.145 What would be the speed of an induction machine operating in generation mode

Ans  DC 1. Runs below the synchronous speed
x 2. No effect of synchronous speed
v 3. Runs above the synchronous speed
X 4. Runs equals the synchronous speed
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Ans X 1. R gemRR (Synchronous transformer)
7X 2. R e (Synchronous motor)
( 3. Ritaw &3eR (Synchronous condenser)
X 4. Rz ameRdex (Synchronous alternator)
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Ans X 1.3 phase, reactive power method
x 2. 2 phase, 2 wattmeter method
4 3. 3 phase, 2 wattmeter method
x 4. 3 phase, 3 wattmeter method
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Q.150 In electric rallway engine, capacity of universal motor is o
Ans X" 11200 HP

75 2.200HP

7< 3.100HP

of 4 2200 1P
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